 
B.Com.(C.S.) DEGREE EXAMINATION, APRIL 2018.
II YEAR  IV SEMESTER
Core Major- Paper XII  -  STATISTICS - II

Time : 3 Hours														Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
(Q.No. 1-12) Answer any TEN  questions


1. What do you mean by least square principle?
2. What are regression coefficients?
3. Define simple and multiple correlation? 
4. What is moving average?
5. Give the meaning of quantity index.
6. What is Time Reversal test?
7. What is Z test?
8. If covariance between the variables X and Y is 10 and the variance of X and Y are 16 and 9 respectively. Find the correlation coefficient. 
9. You are given below the following information about advertising and sales
	
	Adv. Exp (X)
(` Lakhs)
	Sales (Y)
(`Lakhs)

	Mean
S.D.
	10
3
	90
12


		         Correlation coefficient = 0.8
		         Obtain regression equation of X on Y.

10. Fit a trend line to the following data by the freehand method.
	Year
	1985
	1986
	1987
	1988
	1989
	1990
	1991
	1992
	1993

	       Production
	40
	44
	48
	42
	46
	50
	46
	52
	50



11. Calculate paasche's price index from the following:
           p0q0 - 1415;	p0q1 - 825;	p1q0 - 2695;	p1q1 - 1475

12. Mention the possible set of null and alternate hypotheses under one tail test.


SECTION B – (5 × 5 = 25 marks)
(Q.No. 13-19)Answer any FIVE questions


13. Explain the various components of time series.
14. Find the line of regression of y on x
	x
	     1        2         3         4           5          8        10

	y
	     9        8        10       12        14        16        15





 (
[P.T.O.]
)



15. Calculate correlation coefficient between height(in inches) and weight (in kg) from the data given below
	Height
	60
	63
	65
	64
	68

	Weight
	50
	53
	60
	67
	70



16.  Using three year moving averages determine the trend and short term fluctuations:
Year:		1973	1974	1975	1976	1977	1978	1979	1980	1981	1982
Production:   	   21	   22	  23	   25	   24	   22	  25	  26	  27	  26
17. Calculate by simple aggregate method index number for the year 1982 based on 1981.
		Commodity	unit		1981		1982
					      (Price in `)
		Rice		      Quintal         250		300
		Wheat	          "		100		125
		Pulses		 ''		200		300
		Oil		       Litre	        150		200
		Milk		         "		250		350

18.  Calculate price index number for 1945  by using Bowley's method.
	                                                 1935                                             1945
Commodity                              Price              Quantity                  Price              Quantity                                      
                                                (in `)                                              (in `)

	A                                                4                      50                          10                      40
B                                                3                      10                            9                        2
C                                                2                       5                             4                        2



19. In a survey of 200 boys of which 75 were intelligent, 40 had educated fathers, while 85 of the unintelligent boys had uneducated fathers. Do these data support the hypothesis that educated fathers have intelligent boys. 




SECTION C – (2 × 15 = 30 marks)
(Q.No. 20-23)Answer any TWO questions
 
20. Using 1964 as the origin obtain a straight line trend equation by the method of least squares.
Years:	1960	1962	1963	1964	1965	1966	1969
Value:	 140	 144	 160	 152	 168	 176	 180
	Find the trend value of the missing year 1961.
21. A sample of 12 fathers and their eldest sons gave the following data about their heights in inches:
	Father   
	65
	63
	67
	64
	68
	62
	70
	66
	68
	67
	69
	71

	Son
	68
	66
	68
	65
	69
	66
	68
	65
	71
	67
	68
	70





                      Compute the rank correlation coefficient.
22. Using the following data, construct Fisher's Ideal Index and show how it satisfies Factor Reversal Test.
	                                               Price in rupees per unit                      Number of units                                        
Commodity                            Base                  Current                   Base                   Current               
                                                year                   year                        year                      year

	       A                                         6                       10                         50                          56
       B                                         2                         2                       100                        120
       C                                        4                          6                         60                          60
       D                                        10                      12                         50                          24
       E                                         8                       12                         40                          36



23. Two samples are drawn from Normal populations. From the following data test whether the two samples have the same variance at 5% level. 
	Sample 1   
	60
	75
	71
	74
	76
	82
	85
	87
	  ...
	 ...

	Sample 2
	61
	66
	67
	85
	78
	63
	85
	86
	88
	91



 
 
	   Apply f-test
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